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TOPIC- INTREST
1. Find the simple interest on Rs. 5200 for 2 years at 6%
per annum.

5200 ¥UY U HTYRUT SUTST JTd B 2 ATA &b 1€ 6% Ufd

qi BT R A

A. Rs. 450

B. Rs. 524

C. Rs. 600

D. Rs. 624

Answer: D. Rs. 624

Solution: P = Principal Amount

T = Time period

R = Rate of Interest

I=PxTxR100

1=5200%2x6100

1=624.

2. Rs. 1200 is lent out at 5% per annum simple interest for
3 years. Find the amount after 3 years.

¥. 1200 B 3 qTe & o18 500 Ufd a0 ATYROT SUTST TR
SYR fear Arar 21 3 99 91 IR JId Pifvrw|

A. Rs. 1380
B. Rs. 1290
C. Rs. 1470
D. Rs.1200
Answer: A. Rs. 1380
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Solution: A=P+I

A=1200+2%
100

A=1200+1200X5><3

100

Amount, A=Rs.1380
3. Interest obtained on a sum of Rs. 5000 for 3 years is Rs.
1500. Find the rate percent.

SUY B IR U YT TS, 3 JTd & 18 5000 F. 1500.
gfa=rd R 1 HifST|

A. 8%
B. 9%
C.10%
D. 11%
Answer: C. 10%
PTR

Solution: Let rate is R% We have, Izm
Here, 1500=2200%3XR

100

Thus , R=10%
4. Rs. 2100 is lent at compound interest of 5% per annum
for 2 years. Find the amount after two years.

¥. 2100 ¥UY Bt 2 T & oW 596 Ufd a9 & Thqf sarel
TR IYR T mar g1 3 avf 91 1 311d Fiferu

A. Rs. 2300
B. Rs. 2315.25
C. Rs. 2310
D. Rs. 2320
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Answer: B .Rs. 2315.25
Solution: We can use formula of compound interest

A=PX[1 + (-)]"
A=2100x% [1 + (5100)]?
A=2100x[1 + —]?
100
A=2100x11025/10000
Hence, Amount A=Rs.2315.25
5. Find the difference between the simple interest and the

compound interest at 5% per annum for 2 years on
principal of Rs. 2000.

2000 ¥YY & AU U 2 9UI & o1 5% Ufd 94 Hl a3 |

HTYRYT AT 3R Tehgfes SATS & aId 3iex JId P |
A.5

B. 10.5

C.45

D.55

Answer: A. 5

Solution: The difference between compound interest and

Pr2

simple interest over two years is given by oz O P(r) 2 Here,

Principal (P) =Rs.2000Rate (r)=5%Nowdifference,
D=2000%x5x5100x100D=Rs.5

6. Find the rate of interest if the amount after 2years of
simple interest on a capital of Rs. 1200 is Rs.
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gfe f<dt goft wR 2 a9 & d1e JTURT are Bt AR,
1200 94 §.

A. 8%

B. 9%

C. 10%

D. 11%

Answer: C. 10%

Solution: Amount, A=Rs.1440
Principal , P=Rs.1200

Interest , [=Rs.(1440—-1200)=240
R_240X100_10%

1200X%2

Alternatively, We can go through a thought process i.e.
1200==20%1(240 In 2years)

=1400

That means 10% rise in each year

7. What is the difference between the simple interest on a
principal of Rs. 500 being calculated at 5% per annum for

3 years and 4% per annum for 4 years ? 5009 &
AU TR HIYRUI TS & dig 3’ T 82 5% D1 TUET
3 91 & fore ufer a9 3k 4 9@ & fw 4 yfa adf S &=
q @1 T 381 87

A.Rs. 5

B. Rs. 10
C.Rs. 20
D. Rs. 40
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Answer: A. Rs. 5

Solution: Ilz”fgfl
1= 500%x3x5100
=Rs.75
—PT2R
12= 1(2)02
_500x4x4_
|12= o5 =Rs.80
Difference=80—-75
=Rs.5

Alternatively

The interest is calculated simply and then it will have a rise of
15% in 1st'case and 16% in 2nd case.

Difference = 1% on 500 = Rs. 5

Other way ,

500 == 15%

7

= 575 (1st case)
500 == 16%

7

= 580 (2nd case)

We can see clear difference of Rs. 5

8. What is the simple interest on a sum of Rs. 700 if the
rate of interest for the first 3 years is 8% per annum and
for the last 2 years is 7.5% per annum?
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700 ¥UY BT AU YR YIYROT TS AT 22 Ife Ugat 3 qut
& foru =a1e1 3¥ 8% ufad o § 3N 3ifaw 2 aut & ferw
7.5% ufa adf g2

A. Rs. 269.5

B. Rs. 283

C.Rs. 273

D. Rs. 280

Answer: C. Rs. 273
Solution: 1% case:

_700x3x8
11= 100

= Rs. 168
2"d case:
|2_700><2><7.5_RS. 105

100

Then total interest for five years

= (11+12)

= Rs. 273

Alternatively,

As interest is calculated as simple interest
So, we can add up rates for all given 5 years and calculate it
easily i.e.

For the five years rate

=(8x3+75x%x2)

= 39%

Now,

700 = 39%
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7
= 973

Interest = Rs. 273

The thought can go this way we internally calculated
700

10% of 700 =—=70
10

Then, 39 % of 700= (40%—1%) of700

= (280—7) =273

9 .Find the compound interest on Rs. 1000 at the rate of
20% per annum for 18 month when interest is
compounded half yearly.

1000 YUY YR Teh gl TS JTd P< 118 Aol & 1T 20%
ufd a4 ot = A, 99 s Srefarffe &u & Saifora ghar

gl

A. Rs. 331

B. Rs. 1331

C. Rs. 320

D. Rs. 325

Answer: A. Rs. 331

Solution: Given, Principal , P=Rs.1000

Compound rate, R=20% per annum

20

=7:10% half — yearly Time=18month=3half — years Amount,

A={Px[1 + (m) I}
={1000x[1+(10100)] 3}=
1000x11x11x1110x10x10

Study-Knight Coaching Centre Sunder-Nagar Himachal Pradesh 7807922400 / 98170-34333
Search Us on YouTube Study Knight or Visit Our Website: - http://www.StudyKnight.in Study-
Knight YouTube 40k Family




Study-Knight Research Centre Himachal Pradesh

A=Rs.1331 Hence,
Compound interest=Rs.331
10.Find the principal if the interest compounded at the

rate of 10% per annum for two years is Rs. 420.9f& &t qut

& 1T 109 ufd 9 Bt o3 | Twhgfs A F.420.8 dt

AU JTd DI |

A. Rs. 1000

B. Rs. 2200

C. Rs. 2000

D. Rs. 1100

Answer: C. Rs. 2000

Solution: Given,

Compound rate, R=10% per annum
Time=2years

CI—Rs.420

Let P be the required principal A= (P+CI)

Amount, A= {Px [1+(=)]"}

(P+Ch={Px [$551°}

100
(P+420)=Px []?
P—1.21P=—420
0.21P=420
Hence, P=420
0.21=Rs.2000
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11. In what time will Rs. 3300 becomes Rs. 3399 at 6% per
annum interest compounded half-yearly?ﬁv_cle[ IHg °

freiT . 3300 FUA B M. 3399 6% Wfd a9 Srefaritie
Tsh e ST UR?

A. 6 months

B. 1 year

C.112 years

D. 3 months

Answer : A. 6 months

Solution:P=Rs.3300A

=Rs.3399R

=6%per annum Let the time be n-years.Compound interest is

taken half yearly. A=Px[1 + (g X 100)]*"

3399=3300(1 + —
2n_3399

(1.03) o0

(1.03)2"=(1.03)1Thus,2n=1year

n=12 year=6 months

12. Rahul purchased a Maruti van for Rs. 1, 96,000 and

the rate of depreciation is 1427% per annum. Find the
value of the van after two years.

EAAF. 1,906,000 H TH AIBTA a WIGT 3R Heug™g
D1 3 81427% Ufa g | g1 o q1¢ 99 &1 o7 F1a
PIfora |

A. Rs. 1,40,000
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B. Rs.1,44,000

C. Rs. 1,50,000

D. Rs. 1,60,000

Answer:B. Rs.1,44,000

Solution:Value of maruti Van,V0=Rs.196000 Rate of

depreciation,

R=14204=2200:
7 7

Time,t=2 years Let V1 is the value after
depreciation.V1=V0x[1 — (ﬁ)]t

=
V1=196000x[1—( 1(7)0 )]2
V1=196000x(2)?

Vl:(196000><36)
49

V1=Rs.144000

13.What is the rate of simple interest for the first 4 years if
the sum of Rs. 360 becomes Rs. 540 in 9 years and the rate
of interest for the last 5 years is 6%7?

gfe AR ¥, 360 W 8 Y Uga 4 9Uf & fore Ty ST
$1 T FT 82 9 99 {540 $UY g1 7MY 3R fUser 5 auf &

foTe ST X 6% B2
A. 4%
B. 5%
C. 3%
D. 6%
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Answer: B. 5%
Solution:Interest for the last 5 years :%

=360%x5x6100=Rs.108Interest
foryear=540—360=180So,interest for first four
years=180—108=Rs.72;Now,rate for first four

72X100
years= =5%
360%x4

14.What will be the simple interest on Rs. 700 at 9% per
annum for the period from February 5, 1994 to April 18,
19947 700 $UY U HILUTRUT ST T gIT2 5 BRaAST 1994
H 18 3T 1994 9% P faf¥s & forg u= 99 ufd adf #i
WA

A.Rs. 12.60

B. Rs. 11.30

C.Rs. 15

D.Rs. 13

Answer:A. Rs. 12.60

Solution:Here,time interval is-given as February 5,1994 to

April 18,1994=73 days=73365=0.2 years.Now

PTR_700X9x0.2
= =Rs.12.60
100 100

15.Asif borrows Rs. 1500 from two moneylenders. He pays
Interest at the rate of 12% per annum for one loan and at
the rate of 14% per annum for the other. The total interest
he pays for the entire year is Rs. 186. How much does he

borrow at the rate of TRI® = YA IUR ﬁ'l'l'{ |

Study-Knight Coaching Centre Sunder-Nagar Himachal Pradesh 7807922400 / 98170-34333
Search Us on YouTube Study Knight or Visit Our Website: - http://www.StudyKnight.in Study-
Knight YouTube 40k Family

interest=




Study-Knight Research Centre Himachal Pradesh

HIEPRI | 1500 . 98 TP BT & oW 1296 ufd adf @t
¥ ¥ 3R g & 1T 149% ufd a9 @t g I sa1< ST & |
TR 94 & foIT 98 o U191 %. 186. 98 12% DI &R W

fpaTTIYR AdT

A. Rs. 1200

B. Rs.1300

C. Rs. 1400

D. Rs. 300

Answer:A. Rs. 1200

Solution:Let Asif lent Rs. X at 14% per year.
Hence, Money lent at 12% = (1500 - X);
Given, total interest = Rs. 186

(Xx14x1)100+K1500ﬁOX12Xﬂ

100
= 186

14x  18000-12x
+ =186
100 100

14x+18000—12x=186%100

2x=18600—18000
_ 600

T2
=Rs. 300
Hence, money lent at 12%=1500—300
=Rs.1200
16.A sum was invested at simple interest at a certain

Interest for 2 years. It would have fetched Rs. 60 more had
It been invested at 2% higher rate. What was the sum?Ud
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RT3 2 99l & fore T Ffda sarer wR AR s
R A= fovar mar ot 399 vud fired. afd 59 2%
3fere o= wR fra=r fosar smar at 60 %, Sifere faraa | @i
fopaT UT?

A. Rs. 1500

B. Rs. 1300

C. Rs. 2500

D. Rs. 1000

Answer:A. Rs. 1500

Solution:Let the rate be R at which Principal P is invested for
2 years.

According to question,

{Interest at Rate (R + 2)}% - (interest at rate R%) = Rs. 60
(Px2Xx(R+2))

100
(PX2XR)

100

=60

2PR+4P—-2PR _

60
100
4P=60%100 Or,

60x100
P=
4

Hence,P=Rs.1500
17.The difference between simple and compound interest
on a sum of money at 20% per annum for 3 years is Rs. 48.

What is the sum? foolt - RIRT IR 34 & fere 2096
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g saTel Bt g3 I YR 3R Thgig &I & I

BT A 3. 48. TN b1 82

A. Rs. 550

B. Rs. 500

C.Rs. 375

D. Rs. 400

Answer: C. Rs. 375

Solution:Let sum is P.The difference between compound
Interest and simple interest over three years iIs given by

=P()2x{()+3}
48=Px(Z)2x{(55)+3}

100 100

48=Px—_x16548
100

=Px64500 Or,

64P=48x500

Hence,P=Rs.375

18.1n what time will the simple interest on Rs. 1750 at 9%
per annum be the same as that on Rs. 2500 at 10.5% per

annum in 4 years?mefwfqu?mwm
e ? 1750 UR 9% Ufd 99 &t &3 A g5l g Sl .
10.5% Ufd a9 B T | 4 JTA H 2500 F.

A. 6 years and 8 months
B. 7 years and 3 months
C. 6 years

D. 7 years and 6 months
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Answer: A. 6 years and 8 months

Solution: Let time is T years .According to question 1720

=(2500%10.5x4)100

Or, T=2500%10.5x41750x%9

Or, T=6.66=6yearsand8months

19.Raju lent Rs. 400 to Ajay for 2 years and Rs. 100 to
Manoj for 4 years and received together from both Rs. 60
as interest. Find the rate of interest, simple interest being

calculated. ITS[AC ¥, 31T i 2 JTA & [T 400 ¥, 4 T
& T 7S @1 100 ¥ 3R Il &l TR & S &

U H 60 F. TSl B &3 JTd DI, JTURUT TS i

TOT S ST B 2|

A.5%
B.6%
C.8%
D.9%
Answer: A.5%

Solution:Let rate is R % According to the
400X2XR [1OOX4XR] 60

v

question, [

8R+4R= 60

Hence,R=5%

20.A sum becomes 4 times at simple interest in 10 years.
What is the rate of interest? Udh TR JTLYROT TS R 10

qul # 4 71 g1 ST ¢ | STl &2 T 82
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A. 10%

B. 20%

C. 30%

D. 40%

Answer:C. 30%

Solution: 1% Method:

Let rate is R% Now ,P=100,
A=400,

[=400—-100=300,

Time ,T=10years

PTR 100xI107T
I—O R= ,
PT

_100x300
100X10

Hence,R=30%

2nd Method :

Here, the sum become 4 times that means 100, become 400.
Rate of such question IS given by

R=Interest tlme— —30%

3rd Method :

Here, 300% of rise in the sum so
100——300%1——400;R=total percentage rise given
time=300%10=30%

21.A sum of money placed at compound interest doubles
itself in 4 years. In how many years will it amount to 8
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timeS?W@WWQ@T@WWﬁ4Hﬁﬁ
SR 81 STl 8 | fopa= ol | g fR1 8 AT 81 SImedi?

A. 9 years
B. 8 years
C. 27 years
D. 12 years
Answer:D. 12 years
Solution:Let,
Principal=Rs.100
Amount=Rs.200 Rate=r% Time=4years
Now,A=Px[1+(r/100)] ™
r

200:100)([“(%)] :

r 2
2=[1+g) ()
If sum become 8 times in the time n years then,8:(1+(1rm)) n

23:(1+(1go)) n (ii)
Using eqn (i) in (ii),we get ([1+(-—)]*) 3

IO
_(1+100)

r r
[1+() 2= (1H)"
Thus,n=12years.
22.Divide Rs. 6000 into two parts so that simple interest on
the first part for 2 years at 6% p.a. may be equal to the
simple interest on the second part for 3 years at 8% p.a.

SUY dict. 6000 B G HIT | FicT AT d1f Ugel HIT UR
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2 9T & 1T 6% Ufd W BT g3 | HTURUT AT YT &1 |
TOY T WR 3 94 & forT 896 Ui a9 ot g | IAreURor

TS & SRIER gl ol g |

A. Rs. 4000, Rs. 2000

B. Rs. 5000, Rs. 1000

C. Rs. 3000, Rs. 3000

D. None of these

Answer: A. Rs. 4000, Rs. 2000

Solution:Let 1% part.is x and 2" part is (6000—x) According

- XX2X6_ (6000—x)x3x8
to question,—— o

12x=144000-24x

Or,36x=144000

144000
Or,x=
36

=Rs.4000

1% part

=Rs.4000

2" part=Rs.2000

23.A sum of money becomes 74 of itself in 6 years at a
certain rate of simple interest. Find the rate of interest.

TR TS B T {3 o W T YRR 6 99l A
74% B STl § | SUTST X JId BIfor.

A. 12%

B.12§%

C. 8%
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D. 14%
Answer:B.lZ%%
Solution:Let sum is Rs.100,Then it become 74 times

. 700.
1.e.Rs. —n 6 years .

300

Interest=""2 —100 Rs. —Hence Rate= tgfji;”t’ijnezt— X6= 12—%

24.1f a certaln sum of money becomes doubles at simple
Interest in 12 years, what would be the rate of interest per

annum?dfe T AT <RI JTLUROT TS UR 12 99f
& STt & ot 8, < e STt @X T Eni

A. 8

B.10

C.12
D.14

Answer:A. 8%

Solution: Let,
Principal, P = Rs. 100;
Amount, A = Rs. 200;
Time =12 years;
Interest = Rs. 100;

Rate of interest
_TOTAL INTREST _100

Given Time 12 _8_%
25.1f a sum of Rs. 13040 IS to be repaid in two equal

Installments at 3% % per annum, what is the amount of
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each installment?ﬂﬁ ¥. 13040 3UA B Ebf Iq fozai |
33/4% Ufd ¥ Bt T A BT ST §, TP fohed Bt
TR T 87

A. 7045

B. 8000

C. 65067

D. 6889

Answer:D. 6889

Solution:Let each instalment-be P Hence,X( 0

2
100+r)+(100+r)
+x /(1 + (15400))%=Rs.13040 On solving,it gives

r X
"14154.00

X=Rs.6889
26.What is the amount of equal installment, if a sum of Rs.
1428 due 2 years hence has to be completely repaid in 2

equal annual installments starting next year?. JHIA

RITYAT S AR T g, Tfe A %, 2 I8 91 ST 1428
TUY B 3FTS 94 H IR g4 arell 2 U a1t ozl

H g3} avE & gD o1 g |

A. 700

B. 800

C. 650

D. cannot be determined

Answer: D. cannot be determined

Solution:As short - cut of installment for 2 installments is
given by
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2R)+(100/(100 + R))?

There is the need of rate (R) which is unavailable in the
question.

S0, we cannot determine the answer

27. A milkman sells cow milk at the rate of Rs. 55 litre
Including a profit 12 per cent. He also sells buffalo milk at
the rate of Rs. 36 per litre including a profit of 20%. How
much profit will he earn in five days if he sells 8 litres of
cow milk and 10 litres of buffalo milk per day?

TS GUATAT T T g8 $UY DI &3 § dadar g | 12 ufa=ra
a1y Afgd 55 eitex | a8 W BT g4 W U8 &1 3% 9 aud

g | 20% STY Tfga 36 ufa ehtex | afe a5 ufafe s eftex
T BT g4 3R 10 e W HI gy agar g o uid fg=i &
faaT dTH HHTE?

A. Rs. 632

B. Rs. 624

C. Rs. 646

D. Rs. 642

E. None of these

Answer: Option E

Solution: Total cow milk sold in five days =5x8=40 litres
Total buffalo milk sold in five days =5x10=50 litres Hence,SP
of 40 litres cow milk=40x55=Rs.2200 Hence, Profit on cow

Instalment =P(1§§
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milk= 2222X12 —ps 235 71Profit on buffalo milk

=50%36x%20120 =Rs.300

Thus, Total Profit=235.71+300=Rs.535.71

28. The population of vultures in a particular locality is
decreases by certain rate of interest (compounded
annually). If the current population of vultures be 29160
and the ratio of decrease in population for second year and
3rd year be 10 : 9. What was the population of vultures 3

years ago?wmmﬁﬁﬁﬁmw
iféa sare R (@ffe v 3 agfs) | 1 8 9l 3|
qfe FIgl Bt aaq= SIS 29160 § SR gk a9 3R
TR 9u ST § HHI &1 ST 10:9 81 3 99 Ugd
firg &t s fea- 4t

A. 30000

B. 35000

C. 40000

D. 50000

Answer: C. 40000
Solution:Decrease in second year Decrease in third

100 10
= >1=10%

Let the population of vultures 3 years ago be P, then
Px[1~(=-)13=29160—P=40000

29.A man had 1000 hens at the beginning of year 2001 and

the number of hens each year increases by 10% by giving
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birth. At the end of each year we double the no. of hens by
purchasing the same no. of hens as there is the no. of hens
with us at the time. What is the no. of hens at the

beginning of 2004?TY 2001 PI 3{[\‘73"?[1?[' Udh anaﬁa?
URT 1000 GRTAT oY 3R g O1a 9= ¢ & gk &1
AT 10% 9¢ STdl g | Td® a4 & 3 W g0 I=
SR H 3¢d ¢ | 99 S@ § gifar eiese | gifal
o & fora-t g1 39 THY gHIR 91y gifar 4f | &
T8I 82 2004 B [T W g P12

A. 10600

B. 10648

C. 8848

D. 8226

Answer: Option B

Solution: 1000 == 10%1 = 1100 == Double = 2200 ==
10%71 = 2420 == Double = 4840 == 10%7?1 = 5324 ==
Double = 10648

30. The difference between simple and compound interest
for the fourth year is Rs. 7280 at 20% p.a. What is the
principal sum?

Y 99 & T FIYRUT 3R Tehqfs TS & dF BT 3R

¥. 7280 20% Ufcas U | e IR T 82
A. 10000
B. 50000
C. 70000
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D. 40000

Answer: B. 50000

Solution: Difference between Compound interest and Simple
Interest for the fourth year is Rs. 7280

PR (15
=7280
P/5[(65)3—1]

=7280

P 216
s sl

=7280

Fx2L=7280
5 125

~P=50000
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